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,,, (03 Marks)
(07 Marks)

investor. Assume that if a

amount called for
Number of contracts: 8 ;

Maintena
Initia

(10 Marks)

Consider the followin g'data about April 2p2l NIFTY options [all values are the opening
values of the dav-I.of the

Exercise P,rice 1060 1080 1100^ "'1120 1140 I1,60 l 180 t200 1220

Call Premium 50ru0 31.05 t7 -45 8.00 4.95 2.15 r.00
Put Premium 1.10 1.30.:: .2.60 6.00 fr'2'"' 23.40

ipdetiupened at 1,146c ify the optisd$6n the basis of their o'mon

n = )nort : uon
nce rnargin 

=,rgin : l2o/o?,,,1

z€ = )uu unlts. unlt prrce = Ks //.; NumD,

f initial margin" Da{sffiontract: June 3 ;

I pnces are : ::::::': .::

o

Date eJufie 4 June 5 June 6 June 7 June 10 June 11 June 12

Price (Rs! 22.30 23.r0 22.90,. "23.00 23.15 22.85 22.95

a.

b.

' t,,,,,.,n ',P lf

Differenti#e between Exchange traded-and over the counter derivatives. (03 Marks)
A shaleiis,,,currently traded at Rs,_]$,.,A 3 - month futurEs.,"contract on this share is traded at

Rs 8p50 The risk free rate of return continuously codnotinded is 8o/op.a. No dividend is

expected to the share in the next 3 months. Is there any arbitrage opportunity here? If so,

thgn discuss the outcome. ..1i' ,'"i::,.,,,,.'r'i::i. o.,,,,,,,,,;, (07 Marks)

Explain the key differences between Forward and Future contracts. (10 IVIarks)
,, .ii

c.

3a.
b.

The indeti'opened at 1,146,r'86. Classify the optisd$6n the basis of
segregate the intrinsic and time values.

c. Brieflj'explain the Opt'iofftr&ding strategies.

a.,i=:What is Put - Call Parity) t :l'-
,bi.:'=The following infttraation is availab.|p tin call options involving" 

months expiratioiis;d

calcu late hedgewitio, app lying b ino mial formulatio n.

a. What do yori mean by Butterfly Spread?
' lof2
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Fourth Semester MBA Degree ExaminAtion, June/July 2023 '

Financial Derivatives

Time: 3 hrs. Max. Marks:100
* t" .,.-"

Note: l. Answer any FOURfull Sue;rtonsfrom Q.No.l 16,,,,@;No.7.

2. Question No. I is comp,pfi,pty. $
What do you mean by Marking to Market?
Explain tire types of Financiatbffiptives instruments. 

..,;

Using the following data, p@artif ttre margin accountriefulan
margin call is made at any ti el'the investor would depo-sit'"the a

Position : Short : Contracl *jf€ = 500 units. Unit pr,ice : Rs 22

Strike price Rs. 170 Rs. 180 Rs. 190

Premium"' Rs.21.10 Rs. 14 Rs. 8
r 

'r'liirl

Explain hoW the option can be used to create Butterfly spread. Find the pay - off for the
investor at various rang€rof:stock price Rs 168 , Rs i76 , Rs 185 , Rs 189 and Rs 198.

.r;'r:i"':' (07 Marks)

c. The current price of a Share is Rs 50 and it is believed that at end of one month the price

will be either Rs 55 or Rs 45. What will a European call option with an exercise price of Rs

53 on this share,,,,.Ss yalusd at, if the risk free rate of interest is 15% per annum. Also

2OMBAFN{4O2

,heir "moneyness" and
(07 Marks)
(10 Marks)

(03 Marks)
1100 shares with two

(10 Marks)

(03 Marks)



2OMBAFM4Oz

b. Create a long straddle from the following information : .,ll:u''

+ Call strike price : Rs 380 ; Call premium: Rs 15.
* Put strike price : Rs 380 ; Put premium : Rs 18.

Closing price as follows: Rs 300, Rs 350 , Rs 375 ;Rs 400 , Rs 425.

c. The share of a Company are currently traded at Rs 120/-. Compute the price of a call option
on the share with an exercise orice of Rs 115 usias Black and Schole model. The time toon the share with an exercise price of Rs 11,1*, ti$,i4d Black and Schole model. The time to
matrrritv is three months- The risk free rate bfi',interest continuous compounded is l0% permaturity is three months. The risk free rate of interest continuous compounded is l0% per

annum. The standard deviation is 0.6. Also Uo4ute the price of a put-;Option on this shareannum. The standard deviation is 0.6. Also compute the price of a put option on this share

with the same exercise price and maturjt,y u-ing put - call parity. The,.option mentioned is ofparity. The,.qption mentiowith the same exercise price and matul,ityr
F,uronean nature.

o

Firm Fixed Rate FloAtine Rate

ABC 12% . L+0.1
XYZ 13.40/i;:":;;' L+0.6

rati+,lrian Comnanv XY

(07 Marks)

ioned is of
(10 Marks)

a fixed rate loan.
(10 Marks)

below:

fall in prices

European nature.

a. What do you mean by VaR? (03 Marks)

interest rates,ufith,sontinuous compoundinA are as fol
Maturity (Yr.s)1": I 2 ., 4 5

Rate (oh perarktltm) 2.0 3.0 3:,.7 4.2 4.5

rdi for the second, t h and fifth

b. Suppose the zero interest rates with,bontiluous gompqun4iqfir''i]b a? folloys :

Calculate forward intereKEr.ttes for the second, I

c. Company ABC and {!Z h'hve offered the follo
\rwffi

"rate on a $ 200 millions for 5 yrs loan.
years. (07 Marks)

CASE STUDY (Comrulsorv) :

On l't of Jan. 2022. an inves

Company-AB€ ibquires a floating rat'b loan. Company XYZ required
Design a,$ -,8.p that will net a bank acting as intermediary of 0.1%.

a. What do ybu mean by Forward Rate:agreement? 
,,, ,,,,,,, - (03 Marks)

b. A portftlio consists of Rs 4,00;0CI0'investments in sharos,:of XYZ and Rs 6,00,000 in shares

of ABC limited. The annual volatilities of t$".$i1two assets ar.e.30.4% and 22.4oh

respectively. The co-efficient of correlation betwebn ttre return is 0,6, Conrpute the l5 days

97.5% VaR for the .piffilio and interpref result. Explain"by what amount the

diversification has redliff$[ the VaR. Assuffif6 trading days in a year. (07 Marks)

c. Explain the factors contributing to the gf.o#bf Derivative.,pfu,tets in India. (10 Marks)

" of Jan."2:022, an investor trd*,jib*fotio consisting of 8 securities as shown

$ecurity A B. C D E F G H
?Fibe 29.4 31&9 660.2 5.2' 28t.9 275.4 514.6 170.5
'No. of share 400'' - 800 150 300 400 7s0 300 900

Beta 0'5,tr t.32 0.87., 0.35 1.16 1.24 1.05 0.76

CC st of caoital for thd'investor is eiv-cn-io be20% p.a. The investors fears a

di.lfit.
'tt:::,,"

.. i.. :::::

,.,,,,,,,.The pital.,flor the
r tuttlr€: Yc
,.'b8h fotio.

glv.9&.

-gfoghare in the near You are required to Calculate :

a.,'The Beta of the'bdi,t fo

** 2 of2 **

, ,,::t::r:1.}ilqt!

b. Calculate tf;o6theoretical values of futures contract according to the investors for contract
expiring equFebruary and lvl41gfue,ril"'r, 

I'

c. Calculate thllnrrnb.r of units of SNP CNX Nifty he would have to sell if he desires to
hedge until March.

d. Calculate the number of' ture contracts the investors should trade if he desires to reduce

Additional Information : .
a) The current SI,JP*SNX Nifty value is 986.

b) SNP CNX N;!"Sy'oan be traded in units of 200 only.
c) Feb. Futures are currently quoted at 1010 and March futures are being quoted at 1019.

(20 Marks)


